Bellwork  Geometry  Friday, February 14, 2020

1. Give the most precise name for each.
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2. Use the fewest number of variables possible in order to label the coordinates of the vertices of each
figure.

a) Parallelogram b) Isosceles Trapezoid

b) Given: /. DAC =/ BCA AD = BC
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. In Kite ABCD below, MB = 18, AD = 51, and the perimeter = 162. Find the lengths of the two
dlagonals
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- 2. Use the fewest number of variables possible in order to label the coordinates of the vertices of each
figure.
a) Parallelogram b) Isosceles Trapezoid
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3. In Kite ABCD below, MB = 18, AD = 51, and the perimeter = 162. Find the lengths of the two
diagonals.
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